Precalcnluy  Unit 1 Notes—Combinationy and Compositiony

) o\ When dealing with simple COMBINATIONS of functions (such as f+ g,/ — &,/ *8, and f+ g),
t " the domain of the resulting function consists of all numbers that belong to BOTH the domain of
fand the domain of g.

Example 1 Given that f(x)=v2—x & g(x) =+/2x+5, determine the value of ft+g, f—&
fe g, and f+ g and their domains.
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Example 2 Perform the indicated operation, simplify your result as much as possible, and then

determine the domain of the resulting function.

a) If f(x)— 2and g(x)—;___z_ find (f +g)(x). ¥. (‘m 2) U &’)_ )CI‘,I>
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b)If f(x)=+/x—10and g(x) =~/x+10, find (fg)(x)-
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- . When dealing with COMPOSITIONS of functions (such as f> g ), the domain of the function

) consists of all x-values in the domain of g that map to g(x) values in the domain of f.

Example 3 Given f(x)= «/Ejl and g(x)= x2 +1. Find each composition function and its
domain. T
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Example 4 Given f(x)=9- x2 and g(x) = «/; . Find each composition function and its
domain. |
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Example 5 Given f(x)= —y and g(x) = x% —3 . Find each composition function and its
domain. ]
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| e DECC MPOSING -unitions te purpose is to create two functions (not using the identity
- f;‘i;t::n: ISk that their composmon is the given function. In other words, when given A(x) the .
EY goalisto defme ) & g(x) so that h(x) =flew). B

Example 6 For each A(x), find the functions fand g such that h(x) = f{g(x)).

2) h(x) = (x+1)* =3(x+1) +4 b) A(x) =32x+1
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